Year 9 Stage 5.3 Examination
Part B — Calculator

Section II - Measurement (23 marks) NAME:
CLASS:
b) Find x to 1 decimal place. 2]
2. Convert the following units. [2]
_ x

a) '

50°24' = degrees 58°13°
b) J ~ 11

2.3m%= | cm?

]

3. The water from a flat rectangular roof

12mx15m is collected in a cylindrical water

tank of diameter 2-2m. ¢) Find 6° to the nearest degree. [2]
a) If 10mm of rain falls on the roof, find the [1]

volume of water which has fallen on the 43

roof.

60
452

b) What is the rise in the water level of the tank

when this volume of water is collected?

(nearest cm) ’ [2] 5. If sinf = % , find the exact value [2]

of cosd.

c¢) The cylindrical water tanks is 1-5m high. The

curved part of the tank is to be painted with rust

proofing. What is the area to be painted to the

nearest m>? 2]
4. Answer each of the following.

. 26.1 '

a) Given tang° = 7 find 6° to the nearest

minute. 1]
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Year 9 Stage 5.3 Examination
Part B — Calculator

6. An observer, from the top of a building 66
metres high, finds the angle of elevation of the
top of a taller building to be 34°. The angle of

depression of the foot of the same building is
51°.

a) Mark all the given information on the diagram
given below. 1]

b) How far East of port O is port A?

Answer to the nearest km

~

c)

What is the bearing of O from A?

Answer to the nearest degree

b)

(1) Find the distance between the two buildings.
to the nearest m [2]

(11) Find the height of the taller building. [2]

7. A ship leaves port O and travels 380km on a

bearing of 145° to port A.
a) Put this information on the diagram. 1]
N
W O B
|
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Year 9 Stage 5.3 Examination
Part B — Calculator -

Section ITT - Algebra (43 marks) : NAME:
CLASS:
1. Simplify 9p-3px2. ‘ [1] 7. The velocity of an object is given by
: v =u? +2as . Find u when v=13, a=6 and
s=12. - (1]
2. Expand and simplify
Gg+3)(4g-D—(g+2)(g-2). (2] -
8. For the points A (3,—1) and B (=5,0), find. ..
N ' a) The gradient of AB. 1]
3. If y=7+5(4—x), findx, when y=0. [2] b) The distance AB. o [1]
¢) The midpoint of AB. (1]
4. Solye 2ZX+3_ 3x4+1 2. 3]
| ) d) The equation of the line which passes through A
and B. Give your answer in general form.
, | 3]
5. Solve 4—3x<9. Ty

e) Where does the line AB cross the x-axis?

B | [1]

6. Use an equation to solve this problem. '
“A number is increased by 5 and then trebled.
Ihe result e 6 more than ,t,wo thirds O_f the f) Find the equation of the line parallel to AB
number. Find the number”. [3] . .

which also passes through the point (0,8).

2]
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Year 9 Stage 5.3 Examination
Part B — Calculator

9. Find kif 2x+ky=5 is pérpendicular 10 ¢) S5x*+7x—6 i} [1]
x-3y=11. 2] ! »
i
:
d) 2x*-18x [2]
\_"
L 1
' 12. Simplify... .
10. On the number plane below... o2
Dfent i aiarhann 1 7
e g‘&__t,l a) 2ax 9 10 1]
AR 4ax*
x—2 :
2 b) —— [ . 2
) 3x* —6x. 2]
-8 ~£ | ~4 - 0 ) 3 : ) 7\,‘ (/"
i 25 xR —dx-5 ]
c = - 3
6 {> 3x* +15x x2+x 3]
ig J | '
a) Sketch 2x+y=6. 1]
o
e
\*{/’
b) Hence shade the region where2x+ y <6.
[1] \\!
2 3 |
—— i dH —-= (3]
c) Clearly indicate on the number plane  [3] x'=x x"-1

the region where 2x+y <6 and x <4

are both true.

11. Factorise fully...

a) xp+2x—yp-2y [1]

b) x’—5x-6 i ,
: : END of EXAMINATION
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Year 9 Stage 5.3 Examination
Part B — Calculator

Section II ~ Measurement (23 marks)

2. Convert the following units. (2]

a)
50°24' = 50.4% ,(i;grges

B) /
2.3m’=__ 23000 - 2

cmy

3. The water from a flat rectangular roof
12mx15m is collected in a cylindrical water
tank of diameter 2-2m.

a) If 10mm of rain falls on the roof, find the [1]
volume of water which has fallen on the

roof.
1200 ¢ m X 1500 emx lum S

= 1300 000 tm?® //
W

= 1%00 L

b) What is the rise in the water level of the tank
when this volume of water is collected?

nearest cm igogr 2

( : %/7 o
1200 con= I1B¥m 77730
i

X

I ) >
K/\ e i~ - b ‘ls';?*’L
L 2.2 T %5 b

c) The cylindrical water tanks is 1-5m high. The
curved part of the tank is to be painted with rust
proofing. What is the area to be painted to the

nearest m>? 2]
e /

// —

Ixnx 1.0 xi5

=10 m” (nearest m?) .

4. Answer each of the following.

a) Given tanf°® = %, find 6° to the nearest

minute. 1]
7

° ~
§=71934% " (hegrest minute)

NAME: Ohaun Por

CLASS: _GMAA
b) Find x to 1 decimal place. 2]
x
58°13°
11
o5 BE B < 5 P
1

HZ oo HEOR

~20.9 (I dec.pit) /M

¢) Find 6° to the nearest degree. 2]

24-3

5. If sin6’=%,ﬁnd the exact value [2]
of cos@. / .
Ja v < gy A_‘Ji
- s
Z s s /
Shos 8= EE“ S
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6. An observer, from the top of a building 66
metres high, finds the angle of elevation of the
top of a taller building to be 34°. The angle of
depression of the foot of the same building is
s1e.

a) Mark all the given information on the diagram
given below. (1]

b)
(1) Find the distance between the two buildings.
to the nearest m 2]
o Broe S

s Aeem //
VN

=55 M (negrest m) .

(ii) Find the height of the taller building. 2]

tan 3%° = 23

Y= fan 34° x5

=235 5m( 2deg.pl)

y ,/

7
b m+35-I5m=i0LIs m [ 2 dec.ol) .

7. A ship leaves port O and travels 380km on a

bearing of 145° to port A.
a) Put this information on the diagram. [1]
N .
=N
W 0 N | B
\ ’
I
5%0\&\ :
N
S ]
A

b) How far East of port O is port A? [2]

Answer to the nearest km
20

0S5 55° = 33p

L= oS 55%¢ B0
=21% Rm (nearest R ) ./

c) What is the bearing of O from A? (1]

L

25° or Naxw

Answer to the nearest degree
ADOAE= [80°-90°- 55°: 3

I-Beqrin\c) of O twom Afs
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Year 9 Stage 5.3 Examination
Part B — Calculator
'

Section ITI Algebra (43 marks)

1. Simplify 9p-3px2.
:/‘Ip~bg

=:‘DD

2. Expand and simplify
Gg+3)(4g~-D~(g+2)(g-2).

=204*5¢ +126-3) = (92294 +2q ~ig\
E) ~ (o=} =} ~ 7
=205 %70 -3 —{a*~
(L0g'+79-5Y - (g*- 4 7
=20q7? -3-g°
J +7\5 3 s !\/ 'U‘_
= ]0{5\2;—75*\
) =
3. If y=7+5(4 -x), find x, when y=0. [2]
Q= T7+20-5%
O=27-5 .
S =27 /n
DL:% =5}§ \IOK/

4 Solve 2x+3_3x+1

4
H(zxsz) —35@3&“)
= T =

Bo+1L == = 24

—t9 =24

NS
x=-13

5. Solve 4-3x<9.
i =3

TS = Ay |- Z -3

22 F-5 ‘

o)

x =z -

V|

6. Use an equation to solve this problem.

“A number is increased by S and then trebled.

The result is 6 more than two thirds of the

number. Find the number”. [3]
2
SusY = Fxtb
Suerls= ’l-;x—b
Gor +5S = 2x Tl /
i = -27 \‘ \,J))
21
x=-3
=2k
)

NAME: Shaun Par

CLASS: 9MmaA
7. The velocity of an object is given by

v? =4% + 205 Find » when v=13, g=6 and

s=12. 1]
12%= 0’5 (2x6512) | u?=25 Jl
% =y i 5 uziag =5 o\‘r J~5
8. For the points A (3,-1) and B (-5,0), find
a) The gradient of AB. [1]
m= >:—~?c‘| /
Mm= %127 = T—l? = ‘T‘&" \”
b) The distance AB. ' 1]

d = (){z"xx)z 1 ("\Z‘L\x\z
d=J(-5-3y= (O ‘]T

- TRYT = Jgm < Jos W
M= (Ir'r;h.' 5\';;5\_\)

2]
\/ (1]
(= Ly e -2 ~ '
M= (5 2 =, ) = (= ~3)
d) The equation of the line which passes through A
and B. Give your answer in general form.

¢) The midpoint of AB.

) [ (3]
=3 s
Y=o ‘ XY ~% =0
2= (3x Vb | Fxrgrd =0
‘F‘%‘*b D rdy rS =Q Z
-3 .
2 3—

. ( 3ip s
= x(_“
=

&) Where does the line AB cross the x-axis?
s

% J Cﬁﬁpg,

1) Find the equation of the line parallel to AB

which also passes through the point (0,8).
(2]

(1]
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9. Find kif 2x+ky =5 is perpendicular to

x~3y=11. ) [2]
Ry =5-125¢ S
~ 3 2 o
4= R el
2y =x- U 2=k
L\:éx“% kz% /r\
xden \
10. On the number plane below...
\A\‘- N

¢) 5x*+7x-6
_ (Sm3 dBx o)

- S

1]

= (5>L—5VJL+2\,\1 )

d) 2x°~18x
=23 {x~9) /

=2x ()UB)()L—?)N &/

12. Simplify...
\211\12&\>< TN

Y S e
5
-3 ¥

By

V]

x=2

3x%° —6x
S~z

b)

[2]

= ey ,
1

V]
. Vi

e

x*=25  x'—4x-5

(3]

3x2+153%T x2+xL N
(eesdx-5) . el
= Bu(=isy T XN
) Rloesy
a) Sketch 2x+y=6. 1] T BT X G Sty
1
[ -3 A

b) Hence shade the region where 2x + y < 6.
1

. e
Rej‘or\ ==

'S

2 3

c) Clearly indicate on the number plane [3]
the region where 2x+y<6 and x <4

{3

are both true.

d
) xP-x xi-1

= EIY TN

B3]

IR C TR

N 2ot 2B /
i =\ \ T RNy P
RQC\{ £0 = \\ —HrL \( \_j
11. Factorise fully... T iy

END of EXAMINATION

8) w+2x—yp-2y | [1]
=(x -4 (p+2 )
b) x2-5x—6 \/) m
= (o) (6
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